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A. 3(x + 2)(x – 4) 
B. 3(x – 2)(x + 4) 
C. (x + 6)(x – 12) 
D.  (x – 6)(x + 12) 

 

 
 
 
 

A. n = 500(2)x 

B. n = 500(2)6x 

C. n = 500(6)x 

D. n = 500(6)2x 

 

 
 
 
 

 

 

 
 
 
 

A. f(x) = x2 – 2x – 8
B. f(x) = –x2 + 2x – 8
C. f(x) = (x – 2)(x + 4)
D. f(x) = –(x – 1)2 – 9

  

 
 
 
 

A. y ≤ –2 
B. y ≥ 7
C. y ≤ 7
D. All real numbers
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3A. 8 

5B. 8 

39C. 8 

89D. 8 

 

  

 

 

A. 3 and 5

B. 2 and − 3
2

C. –2 and 3
2 

D. –3 and –5
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         y = 5
4

5
4 x + 0, or y = x

  
  

 12 = 3(x + 8)  
 

  g(12) = 3(12) + 8

  
 

 

 
 

 
 

   
  

  
2(length × width) +

2(height × width) + 2(length × height), which is 2(4 cm × 9 cm) + 2(3 cm × 9 cm) +
2(4 cm × 3 cm), or 150 cm2  

 

  
   x(x2) + x(−3x) + x(2) + 7(x2) + 7(−3x) + 7(2)   

          x3 − 3x2 + 2x + 7x2 − 21x + 14       
 

   
 

 

 

 
 

 
 

 
 

  
 

 

   3(x − 2)(x + 4)  
  (x − 2) by 3  (3x − 6)   (3x − 6) by (x + 4)   

      3x2 − 6x − 24  
    x2 − 6x − 72  

     x2 + 6x − 72

 

Rationales 
1. Choice D is correct. The value of g(12) can be found by substituting 12 for x in the

equation for g(x). This yields g(12) = 3(12 + 8), which is equivalent to 3(20) 60 or .
Choice A is incorrect. This answer represents the value of x in the equation  

. Choice B is incorrect. This answer represents the value of the
expression in parentheses. Choice C is incorrect. This answer is a result of incorrectly
distributing the 3 through the expression in parentheses: .

2. Choice A is correct. The slopes of perpendicular lines are negative reciprocals of
each other
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8. Choice B is correct.�$Q�H[SRQHQWLDO�IXQFWLRQ�FDQ�EH�ZULWWHQ�LQ�WKH�IRUP�y = abt 

ZKHUH�a�LV�WKH�LQLWLDO�DPRXQW��b�LV�WKH�JURZWK�IDFWRU��DQG�t�LV�WKH�WLPH��,Q�WKH�VFHQDULR
GHVFULEHG��WKH�YDULDEOH�y�FDQ�EH�VXEVWLWXWHG�ZLWK�n��WKH�WRWDO�QXPEHU�RI�EDFWHULD��DQG
WKH�LQLWLDO�DPRXQW�LV�JLYHQ�DV�500��ZKLFK�\LHOGV�n = 500bt��7KH�JURZWK�IDFWRU�LV
2�EHFDXVH�WKH�SRSXODWLRQ�LV�GHVFULEHG�DV�EHLQJ�H[SHFWHG�WR�GRXEOH��ZKLFK�JLYHV�WKH
HTXDWLRQ�n = 500(2)t��7KH�SRSXODWLRQ�LV�H[SHFWHG�WR�GRXEOH�HYHU\�4
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14. Choice D is correct. 
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